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N.B. (1) Question No. 1 is compulsory.
(2) Attempt any four from the remaining six questions.
(3) Ulustrate answers with neat sketches and code snippet wherever required.

= T— — (4) Answers to questions should be grouped and written together,
— ] Q.1 (a) Explain the role of client and server side state management in ASP.NET. 10
E (i (b) What is ADO.NET? Explain various steps involved to connect a database
[ using C# with an example, 10
=1 k ] Q.2 (a) Whatis WPF? Describe the WPF class hierarchy. 08
f L E (b) Write a C# program to overload ‘+* operator. 07
= ‘ } =3 Q.3 (a) WhatisjQuery? Differentiate between jQuery and JavaScript. 08 |
I l (b) What is Exception Handling? Explain various Exception Hardling |
Keywords in C#. ; 07
(@) What is Constructor? Explain various types of Constructors in C# with T
suitable example. 08 ]
(b) What is AJAX? Explain Timer Control and UpdatePanel Control with
suitable example. 07
(a) What is Silverlight? Explain various Silveriight Controls in detail. 08
(b) Create a student registration form with appropriate fields. Validate the , 1=
data using Validation controls (Make your own assumptions). 07 B
(a) Explain vaﬁdus ASP.NET coding modules in detail. 08 ] 1
(b) What is Web Service? Explain UDDI, SOAP, and WSDL with respect to
web services. 07
Write the short notes on any three . 15
(a) Global Assembly Cache
(b) Difference bciwéen Java and .Net
(¢) Use of global.asax file . :
(d) Search Engine Optimization
(e) SOAP.
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N.B: (1) Question No.1 is compulsory.
(2) Answer any four from remaining six questions.
(3) Assumptions should be made whenever required and should be clearly stated
{4) Answers to sub questions should be answered together
(5) Nlustrate answers with diagrams whenever necessary

Q1. (a) Explain GSM architecture in detail. _ a8 10
(b) What Is frequency hopping spread spectrum? List the benefits of using' 10

it.
Q.2 (a) What are piconet and scatternet? Explain the various protocd*s 7

supported by Bluetooth protocol architecture.

(b) Explain the architecture and components of GPRS. ‘ 8
(a) Discuss WAP protocol architecture in detail. \ 7
(b) Explain the concept behind Dynamic Source Hout!ng (DSR). How it is 8
different from Destination Sequenced Distarrce Vector(DSDV)?
(a) What are Convolutioncodes? Draw ah ﬂncader with-value k=1, n=2, K=3. 7
Give example of its usage. ‘
{b) Explain Indirect TCP and Snooping TCP. 8
(a) Explain the operation of }\éf:bite IP. 7
~(b) Explain the generathﬁ of cellular networks. 8
(a) Describe WAP Pféiérammlng Model. 7
(b) Describe IEﬁE 802.11 Architecture. 8
Write. s*h‘o’rt notes on (Any three) 15
(a) WML and WML Script
(k) Antennas "
{‘p] Fading &
ld) WiMAX .
3 R ————
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1) Question No.1 is compulsory.

2) Attempt any four from the remaining six questions.
3) Use of calculator is allowed.

Attempt the following

What is fuzzification? Explain in brief intuition method.
Explain in brief reinforcement learning,

Write a short note on mutation operator in GA.
Differentiate between Hard Computing and Soft Computing,.

‘What is defuzzification? What are the different metheds of defuzziﬁcaﬂon

Explain architecture of Adaline with its training algorithm,

@ ~ o] it

Using Zadeh's notation, determine the A-cut sets for the given fuzzy sets:
A—[—9-+01 02+03+04+05+06]
T lx1 x2  x3 x5 %6
B-—{1 09+08+07 06 05 04}
=1zt x3 x4 xs i3
Express the following for A=0.4 ‘
1A 2. AUB 3.ANnB 4, AUA g, AnB -BAUB'I AnB g AUB

Explain in brief fuzzy approximate reasonh)g. 7
Explain in brief individual and Multl-pf-rson fuzzy decision making techniques 8
with the help of suitable example.
Constder two fuzzy setsRand S ' 7
Y1 Y2 NG Z1 72 73
R= X1 04 0.6 N S= Y1 1 04 03
- X2 03 05 ;- Y2 07 02 04
Find Max-min composittm\ T=R-S and Max-product compositionU=R.S
What is Fuzzy lnfergmde system (F15)? Explain it along with its types. 8
What is the differefice between Genetic algorithm and traditional algonthm? 7
Explain encodingtechniques in GA. ,
Using infemnf*e method, find the membership values for each of the triangular 8
shapes (1, R}, E, IR, T) for éach®f the following (all in degrees):
) 20, 40,120
if) 45,45,90
Expiatn in brief architecture of Fuzzy Logic Controller (FLC). S
'Write a short note on any three : ) 15

i) Associative Memory Networks
ii) Crossover operator in GA
ili) Travelling Salesman Problem
iv) Operations on Fuzzy Relations
v) Special Networks
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N.B. 1. Question No. 1 is compulsory.

2. Answer any FOUR from the remaining SIX questions

3. Figures to the right indicate full marks. i
Q1a Attempt the following (any five) 10
t What are the issues in designing distributed systems;? Py &
i Explain Mutual Exclusion. Ry f

iii Name the various consistency models in distributed shared memory (DSM).

iv What is Virtualization? o §
v Name the benefits of service oriented computing. \"
vi Write a note on False sharing . : Ki
b What is cloud -computing.‘f What are the benefits of cloud modm!;; J 10
* Q2a What is clock synchronization? Explain with a dlagram, Tow logical clocks are implemented
with counters and physical <iocks. P 08
. bDiscuss implementation of DSM systems . p ! 07
\ Q3a Discuss Implementation of RPC mechani;__smf_;f‘:f; 08
b What are different address space &ansfgrﬁé;ixmism used in p:l‘oce.ss transfer? 07
Q4 a Discuss various techniques of DPS lmplementatlon 08
b Explain Load Balancing Modei, 07

Q5a What is ordered message*d\ehvery? Compare the various ordering semantics

for message passmg \,«:’ 08
" b Discuss IPC in MA‘“H . ER 07 ‘
Q6a What araﬁm various consistency models in distributed shared memory (DSM)? 08
Discuss anﬁ;g;e in detail. &
b Wbu&hrsv;oﬁware oriented Archltecmre (80A)? 07 )
,é Answer any three: '

-

~ a Fault tolerance with respect to distributed systems 15

r
.

b Map reduce
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¢ Grid computing versus cloud computing
d Discuss software as a service

e Group communication
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